\ ScqeTasl aTel daflfes FIUT THET 0

UYSC EXAM Sample Paper -2023

1) is the famous scientist who discovered gravity

a) Sir Issac Newton b) Albert Einstein c) Michael Faraday d) None of the above

TecaTehy oI QMY AU Filg ATET A
) W AT F 7gead  d) oac IHGeecrsd ) Ahel WS 3) Gerdehl FIgier oA
2) Longest bone in human body is
a) Femur b) Stirrup c) Tibia d) Fibula
AT RRTATS AT dE 18 3T
31) PR ) WIET c) argTH 3) BrIsgar
3) is the most common element found in ourarse.

a) Helium b) Oxygen ¢) Hydrogen d) Nitrogen
9T fARATT HTEHUIRT FaTd TTHT T 3R,
31) gfors §) 3ifFraster NFEER ) ACISd
4) Sound cannot travel through Vacuum
a) True b) False C) Both d) None of these
3aTs [AaTaara 9arg % Ashd STer
3N W 9) T F) el 3) Ushgl aTel

5) is used in balloons as it is lightentair

a) Helium b) Oxygen c) Nitrogen d) Argon
37) gferas 9) fFgste ¢) SATIersTeT 3) 3MTaleT
6) have definite shape and volume.
(a) solid (b) liquid (c) gas (d) all of these
fATRTd AR 0T ITHRATA 3778,
(a) B (b) z@ (c) Ire (d)ar &q
7) Plants give out during photosynthesis.

(a) oxygen (b) carbon dioxide (c) gas (d) none of these
JRIELYUT E3FaT 3113 .
(a) 3iTfFESIA  (b) FIeeT STIFASS (c) 3T (d) Ty e
8) is good for nature.
(a) deforestation (b) affor¢ista. (c) both (a) and (b) (d) none of these
faeiardr aferer 318,
(37) SIS (b) T=iteXOT.  (c) aleer (a) 30T (b)  (d) ITdhT ATEY
9) The government has banned to use loud spealt@wipermission to reduce .
(a) noise (b) noiselytdbn (c) both (a) and (b) (d) none of these
T3S TR ITOUIATH GIhNa ITaT §E7 TTdalr 3e
(a) 3Tarst (b) €a=it wemoT (c) aregr (a) 31O (b) (d) Trdhr ATEr
10) Work done depends on the .
(a) energy (b) atbje (c) force applied (d) none of these
(31) Far §) & @) Fercil ATa] hell (d) ITdHT ATEY

a

11) Our main source of energy is the




(a) coal (b) petrol (c) wood (d) sun
3T 3ofar HEF FHa 3
(a) Pr5ET (b) agTer (c)amgs  (d)FF
12) What is called structure built on rivers to glelctricity?
(a) dam (b) checknda (c) road (d) none of these
A TASTATITETS FASITAR STAAT T HIT FEUTATA?
(a) &roT (b) O SH (c) T&aT (d) Tmdhr ATEY
13) Carnivores are consumers.
(a) primary (b) secondary (c) common (d) naighese

HATHTERY

(b) gzas (c)am@=a  (d) Irdhr aAmer
14) Molecules of liquid can move freely the liquid.
(a) within (b) outside (c) both (a) and (b) (d) none of these
HFAYOT THE AT
(b) STEX (c) &Y (a) 3MOT (b) (d) TTRY SATEY
15) The most important system in our body is
(a)Circulatory System (b)Nerv@ystem
(c)Skeletal System (d)Excretory System
T RIS ol Ageardy JA0T 31
(a) TFATTRTICT YUl (b) AsITHELT (c) FepTeT JOTTIT (d ) #HerFT
16) The big brain is called
(a)Cerebellum (b) Cerebrum  c) Medulla (d) Spinal Cord

ST AG oo . FGUTATd.
(37) BEH (@) #Ag &) Agell (&) grS=T FHUT
17) Matter has .
(a) weight (b) area (c) volume (d) all of these

(b) 8 9he 3 (c)@s  (d)ar &d
18) Mixture of water and sugar is called sugar .
(a) mixture (b) syrup (c) soluble (d) none of these
qroft 3nfor I’ Fiar Fsoner e’ o
(a) fsroT (b) EX&a (c) TAgeT (d) I e
19) The amount of space each thing takes up iscaf .
(a) weight (b) area (c) volume (d) all of these

(31) g7 FEUIATd  (b) UGTUTTAT &FIT IaTAT. () WS (d)ar g
20) There are states of matter.
(a) one (b) two (c) three (d) all of these
TETATET oo .3
(a) Tk (b) &l (c) et (d) ar @
21) Ants leave behind a when they move:-
a) Water b) Smell. c) Blood. d) None.

HIAT .o . HNY HISATd Segl d Tehl SIHIaR gaAT SIEtaR SiTdled

37) grof §) arg. c) T 3) FIEIEr =ITer.
22) Name of the bird which has eyes in the front ohiad.

a) Owl. b) Sparrow. c) Eagle.

SIFITEAR 3l 3¥eledT T8 &Tq.

3) ges. ¥) faof. c) I1%S. 3) hiear.




23) What is the muscular bag of digestive systelied@
a) Liver. b) Intestine. c) Stomach. d) Food pipe
TUAHENTAT FAGEAT TRET g FgUTArd?
31) T, §) TS, c) Ure. 3) 37T UTSY

24) Name the sea on which every things floats.
a) Dead Sea. b) Aralf®a. ¢) Red sea. d) None.

ST FHGIHR Fcdeh IE RN TN FHGS A1 HM,
3) qd Tz b) 3R TH ) Tl THg  3) FewQ! ATel.
25) What is the nature of digestive juices in ttugrech?
a) Acidic. b) Basic. c¢) Neutral. d) All.

qreTdleT 9rdeh {8 Ta8T Hd 318?
3) JFEegF. q) HAAAA. ) 3G .3) ¥q.
26) Which of the following is a good conductor efah?
(a) Iron (b) Steel (c) Aluminium (d) All of these
GTeiTeld<hl SIOTAT 3SUTAT dTgeh 37Tg?
(a) &g (b) ¥t (c) ﬁ?gﬁmw (d)& &d
27) What is the range of the temperature readiryadhical thermometer?
(@) 35°C —42°C {bD°C — 110°C (c) 0°C — 100°C (d) 32°C —42°C
Fafaea AT =T aga arart Aol FT 3me?

28) A bus travels 54 km in 90 minutes. The spedti®bus is
() 0.6 m/s (b) 10 m/s (c) 5.4 mls (d) 8nés

Tsh §9 90 Afera 54 fheT ax s&@am a1 fohdr 31me.
(a) 0.6 m/s (b) 18fr/& (cp.8 #:& (dp.& #H/F

29) In a bulb there is a thin wire called
(a) filament (b) coil (c) element (d) fugiee
FodH LY Teh JTdes arik AT SITell
(a) Fremaie (b) Tser (c) T (d) Tl AR
30) White light is composed of
(a) three colours (b) seven oddo (c) five colours (dylet colours

T YHIA AT Selelell 3T
(a) T Tor (b) FTT 3T GRIEEC (d) 3 LT
31) The process by which green plants prepare ¢heirfood in the presence of sunlight is called
(a) saprophytic nutrition (b) pbsgnthesis (c) cellular nutrition  (d) nutrition
ol gereyer ST gfshdear G SURYAT T 3ol TIR AT AT FEUTATC.
(a) FcTstrdY arsor (b) TeRTRIELTYOT (c) ¥eger drvor (d) 9rwoT
32) Which gland secretes bile juice?
(a) Liver (b) Pancreas (c) Bladder (d) All of thees
RIOTAT T Aed T Fraa
(a) Tepe (b) FaTgfUs (c) FaTI T (d)g &
33) Sheep are
(a) herbivores (b) omnivores (c) carnivores (d) ==

(IESEELED (c) FTETERY (d) TR
34) A physical change is generally
(a) reversible (bEirersible (c) considerable (d) all of these
AT A& deor gl
(a) 3eIc FAT JvATART (b) 3eI€ AT T JUIATAMT (c) ereToi (d)ar @
35) The coldest region on the earth is the
(a) polar region (b) trogii region (c) temperate region (d) coastal region




gediadler Hald U3 yeer 3
(a) g wewr (b) 3surhfesel geer  (c) @ARMAISOT geRr  (d) R wew

36) The warm air is
(a) lighter than the cold air (b) heavier than thedcair

(c) equal to the weight of cold air (d) none of the above
3dER gaT @ ........ . 3Me
(a) U5 gAUET gorhT (b) US EAUET SIS (c) ¥S §ATAT Tolalisds  (d) arerdhr FEEr ATer
37) The best top soil for growing plants is
(a) sandy soill (my soil (c) clayey soil (d) all of these
AT JrequIrard! Hafeddm avdr A & 38
(a) aTelehreT AT (b) FRreRuTATCT #TCT (c) FEpuTATer AT (d) T ®E
38) Name the term which means ‘taking in of aihriic oxygen into the body'.
(a) Exhalation (bpdlation (c) Breathing (d) Respiration
'RRT JHifFaeTs HH€ &aT BO AT s AT HiA.
39) What is the state of the blood?
(a) Solid (b) Flu (c) Gas (d) None of these
Tl e 318d?
(a) &t (b)ga (c) It (d) FTdRT FATEY
40) The zygote develops into
(a) aseed (b) an evul (c) a fruit (d) an embryo
IR I AHfad g
(a)uw die (b) dfielis () U+ Bs  (d) I
41) What is the scientific name of mulberry tree?
(a) Magnifera indica (b) Meralba (c) Desmodium girence (d) None of these

qcirear e A Ara?
BES: s (b) TieRT qelr (c) CEAIBIA (d) TrdhT ATEY

42) Which of the acid is secreted in the stomach?
(a) Hydrochloric acid (b) Nitréeid (c) Sulphuric acid (d) Phosphoric acid
Greltel Yebr dieTd HIvTd HTFeT Fad?

(a) TISIFAIRS 3T (b) ATAReH 3 (c) HewgRe (s (d) PrERIReE TS
43) Which mark is necessary on electric appliances?

HIUTd g Solfdee 3URONER aTS T8
(a) AGMARK (b) IS (c) FICCI (d) KSK

44) Name the device which is used to measure threes® or coldness of an object.
(a) Picometer (b) Barometer (c) Manometer (d) Thermoene

TETT 30T fahaT eNderer AISTUATHTS aTaeaT SATOT-AT 39RO AT Hie.
(a) ReAiee (b) ST (¢) HARY  (d) ¥ATHI
45) Silk fibre is obtained from:
(a) fleece of sheep (b) cottolh ba (c) cocoon @)iny jute stalk

WA ISR A AT
(a) Fear= T (b) FTIETAT AT NEEE (d) THHER AT &6
46) Which is a method to prevent rust?
IS TTBUITATS! HIVTAT Tgc 3Te?
(a) Crystallization (b)dBmentation (c) Galvanisation (d) None of these
47) What is the formula of rust?

TS G HI 3TG?




(a) FeO3 (b) R®, (c) FeO (d) None of these
48) Iron pillar near the Qutub Minar in Delhi isdaus for the following facts. Which of these faists
responsible for its long stability?

(a) It is more than 7 metres high (b) It weighs about 60

(c) It was built more than 1600 years ago (d) It has not rusted after sadbng

oo AR STadiel ARG Wi Wiellel TLATHTST TG 318, JTURT 0T T2 3T e &re FErdarér
STATEIER?
(a) A 7 HIeIUET JEd 39 31 (b asTel AR 6000 kg3ime
(c) & 1600as Ty averer avel g (d) 3T EGATHAR AT ITSTATTel T SATer
49) On which day the world water day is celebrated?
(a) 23rd March (b) 22n@neh (c) 21st March (d) None of these

SreTfaes Stel f&eT Aot fgaeit |IeRT el STar?

(@) AT (bR AT (cRe AT (dyamdhT AATEY
50) Which among the following forest animals is dneallest?

(a) Fox @ar (c) IIET (d) SRR

WTeNerhr HIUTAT geT STof TaTd STt 37T ?

a) T Hregl (b) e c) STaTelT el (d) AT}
51) Which of the following is not a food?

(a) Pulses (b) Bread (c) Petrio (d) Ghee
GToilerdeh! 0T ool oTET?

a)FsU  (b)d3 (c) agter d)q@
52) Which of the following can be prepared from atte
(a) Idli (b) Biryani (c) Pun (d) None of thes
TGS WielTordehl T GeTe TR &l AdTe?

(a) 35T (b) fe=atoft (c) gaT (d) ImdHT ATy
53) Single yarn is used to make
(a) trousers (b) shirt (c) sweater (d) kurta
Thd YR dIR OIS araell SATar
(a) TTEId (b) er& (c) WX (d) StrehTe
54) Which of the following plants store food in itheoots?
(a) Sweet potato  (b) Brinjal (c) Guava (d) None of these
Grelereh! hUTCH TeAETT cATTAT HBTHEY 3feef HISAA?
(a) a1 (b) arefr (c) 9F (d) TrdhT ATEY
55) The hair of which of the following animal is used for making woollen clothes?
(a) Alpaca (b) Dog (c) Cat (d) Rat
GTeileTdehl HIVTCAT JIOATT hd ollhiid HUS FAdUIRATS! aTdRdld?
OEIE (b) =T (c) AR (d) 3ER
56) Butter is separated from milk by
(a) sedimentation (b) filtration (c) churning (d) decéiata
gaR Aol GUTIREET 9T shel STl
(a) 3ra@TC (b) IMTBOT (c) FHUT (d) STt
57) A solid is dissolved in water. Which one of fbibowing methods can be used to separate it?
(a) Filtration (b) Decantation (c) Distillation (d) Eparation
g 9e1d qruaTd faREadrd. o d91a OISl FTaileldeh! Il Igd araell 3 2Tehd?
(a) MBUIT T (b) AT (c) FeuTdeT CELSIEEE!
58) Temperature at which a solid starts melting isechits
(a) melting point (b) boiling point (c) freezing point (d)wlichange
ST ATIATATER 8 9T fadeuard gIard gid carer




(a) faies foig b) Scehole faig €) INSeATH @) 8 Sco
59) Which of the following method is used when éhisra difference in size and colour of desirabig a
undesirable constituents?

(a) Handpicking (b) Threshing (c) Filtration (d)ebantation

3R IO THRTT TR ITHATT WTeiTeTdhl ShIOTAT T aTaTell ST
(a) gsTaferar (b) FABON (C) IMeBuATT Yfehar d) fagsrer

60) Which of the following changes cannot be reversed?

(a) Milk to paneer (b) Cold milk to hot milk

(c) Yarn to knitted sweater (d) Wet clothes to dry clothes

GrolloTdh! HIUTT dgod 3oc AT Id ARId?

(a) g @ AR (b) ¥s g O IRA gY (c) fAureled Te™ g (d) 3N FHUS Fhaor
61) Which of the following material do not expands on heating?

(a) Iron (b) Wood (c) Glass (d) Oil

GTelTeldhl SITAT THIT IRA hediay AEARA ATer?

(a) @3 (b) eITs CEIE] (d) et

62) Which of the following type of plants has thick, hard and woody stem?

(a) Climber (b) Herb (c) Shrub (d) Creepers
GrolToTiehT VAT TehedT TATANALY SIS, seh 0T JaTeolicd TIs 3g?

(a) FaRiEs (b) 3treelr gerEgeT GEES (d) orar
63) Male reproductive part of a flower is
(a) sepals (b) pistil (c) stamen (d) petals
HolrdT 1Y Yel@cdiceh HET 318
31) BTN STEGRIMM Eel (b) FrEqer (c) geher (d) UTeheaT
64) The tissue which helps in the movement is called
(a) epithelial tissue (b) muscular tissue (c) connective tissue (d) nervous tissue
TSI HAGA HIUMAT Fcilell FEUTATT
3) epithelial tissue  (b) &g 3T (c) TSI 3T (d) AT,
65) Cactus plants store water in their
(a) spines (b) roots (c) stem (d) leaves

37) HAUEFITHEY (b) H> (c)@rs (d) 91et
66) The pairs of ribs make a cone shaped cage.
CEC) 221 £2) S . SISAT AeheaT JHThRTET [UeRT Sefadrd.

<

(a) 11 (b) 10 (c)12 (d) none of these

67) Which one of the following occurs when we straighten our arm?
(a) Both biceps and triceps contract (b) Both biceps and triceps relax
(c) Biceps contracts but triceps relaxes (d) Triceps contracts but biceps relaxes

SISgT TIUT 396l §Td I il degl Wlalleldehl ShioTd fohdl 3gad?
(a) STIATH JNOT TATH eleel 3Meheel radid (b) STIATH 30T TRIATH Slegl IRMH HIATT

(c) STIATH 3Tl ATl JOT SRIATH 3RTH FHITd

(d) TR 3MTehdel Yrddld W SIEASH 3R HAT.
68) The removal of waste substances from the body is called
(a) reproduction (b) respiration (c) breathing (d) excretion
RNTST T3 YETS ShigeT TR0l ATl FEUTAT
(@) gerscaTesT (b) eaF=T (c) earg "ot (d) 3casteT
69) An internal structure of bones that support and protects body is
(a) skeleton (b) tendon (c) cartilage (d) skull

gIST 37d9Td T AT IR HI&T0T HaTd .




70) Combination of two or more cells is called
(a) battery (b) cell (c) bulb (d) circuit
aret fohar 31f8res defi<ar @atemel FgouTard
(@) sl (b) @ (C) Sod (d) Rrzar
71) Lead of pencil is
(a) aninsulator (b) a semiconductor (c) a conductor (d) none of these

(@) Uh gogaiey  (b) IreTEaTEd  (C) Hskel  (d) AT ATEY
72) The water in oceans cannot be used because
(a) it is salty (b) it is harmful (c) it is toxic (d) it is acidic
HAGATRICATS 907 a9l Id aATer HROT
(a) d @RC e (b) I ETfAPRS 3Me (c)a fawrdr 3mg (d) T 3FeT 3T

73) Which one of the following is a purest form of water?
(a) River water (b) Groundwater (c) Rainwater (d) Ocean water

FrellertidhT HIOTT IO Fald Y€ F 3TR?
(a) S aroft (b) 8Ter (c) TraaT grofr (d) FETERRI groft
74) The process by which plants lose water is
1 9fshdAS F1s arofl aTATadTd
(a) photosynthesis (b) translocation (c) transpiration (d) transportation
(a) TRTEIATOT (b) foregazoT (c) STSATCHSTA (d) aTEd®
75) Which one of the following is not a method of garbage disposal?
(a) Landfill (b) Vermicomposting (c) Cycling (d) Composting
GrelTerdhl HIUTAT Teh FRT fdegarcrdr Jgd ATer?
a) TRTAHTOT (b) 55 Tl (c) STSYIcTSTeT (d) FoTor
76) Which state is the best state on health parameters?
IRPFATT SEdId HIVTA 5T Faledd WiHed A
(a)Kerala (b).Odisha (c) Bihar
(a)F> b).37 3 ORCIES
77) Galileo was an Italian astronomer who
A. developed the telescope
B. discovered four satellites of Jupiter

C. discovered that the movement of pendulum produces a regular time measurement
D. All of the above

Ffaforst & sarfoas @amarsTa ga
(a) gfsofrar fawra b) IET AR 3YIE ATErel
c) & MY Fe T Ggora grordrel AT dova AT d) alrer |9

78) The Dr. Babasaheb Ambedkar Marathwada University is at which of the following places?
A.Aurangabad B.Nanded C.Parbhani D.Nagpur
a)3RemeTe b)eTcs c)qRHofr d)=ATeTX
79) The Indian Institute of Science is located at
A.Kerala B.Madras C.Bangalore D.New Delhi
sfsae sfreecye 3% aew Y 3Mg
3)ad q) #oH &) dITBE Z)eTdr feeell
80) Which city is known as 'Electronic City of India'?
A.  Mumbai
B. Hyderabad
C. Guragon
D. Bangalore




SoFgiieih AT 3Hh Sf3AT FEULT HIoTd A sl SATA?
a) 7S b) &creTE c) IRMNET d) SR
81) Golden Temple is situated in
A. New Delhi B. Agra . Amritsar . Mumbai

FaoT #RT A 3
a)dT el b) 3Tamm c) HATE dyes
82) Where is the headquarters of Qil and Natural Gas Commission?
A. Dehradun B. Vadodara C. Digboi . Mumbai
et 30T ST f3ter ATy 3TAeTTe HEATE 1S TR ?
a) GgIgel b) aSTeT S EGIELR dfes
83) The 'Char Minar' is in
A. Ahmedabad B. Hyderabad C. Delhi D. Sikri
IR AR ALY 3118

a) gHGIG b) geTaTE c) feeelr d)fashr
84) National Police Academy is located at
A. Bangalore B. Hyderabad C. AbuRoad D. Dehradun
TSERT Greii 3TehsHT I 378

aFITeR b) geXTeTE CBI S dRETeeT
85) Ajanta-Ellora caves are situated near
A. Ajmer B. Jaipur C. Patna . Aurangabad
31TSToT-TaRT ool STaaa 3med

A 3SR B.SEQ C.ureom  D. 3iRemerg

86) Sun Temple is situated at?
A. Konark B. Bangalore
C. Haridwar D. Kerala

I AT 1S 382
Q) FUME  b) e ¢)gRear d) e
87) January 15 is celebrated as the

A. Republic Day B. Ugadhi
C. Teachers' Day D. Army Day

15 SATRY 8T f&ad FULT AT shell STl
AT cds Gad b)Zarefr c) fraves et d) 3t feaw

88) The World Environment Day is celebrated on
A. April 7 B. June 5 C. August 6 D. June 16

SeTfae gateRoT et I feaely ARt sl ST
a)7 i b)s T c) APRT & d)SfeT ¢
89) The number of major languages, recognized in the Indian Union as official language, are
A. 15 B. 22 C. 12 D. 9
a)es b)3 c)iR d) R
90) The minimum age of the voter in India is
A. 15 years B. 18 years . 21 years . 25 years

HRATdTSl AdeRT fohATT a3 3me
a) ¢y a¥ b) ¢¢ a¥ c)e a¥ d) ¢ a¥

91) Who was known as Iron man of India?
A. Govind Ballabh Pant B. Jawaharlal Nehru
C. Subhash Chandra Bose D. Sardar Vallabhbhai Patel
HRATT ANgYLY FULA IOl Il STA?

a)AMTAE Toors el b) STATe AT 716w ) eTeie S d) ALER Tecisfels ueol




92) The first woman in space was
A. Valentina Tereshkova B. Sally Ride C. Naidia Comenci . Tamara Press

ARSI SATOTRY afgelt AAfer gt
a)TEeITeall dRRHIAT  b) Hell ST c) AAfear FradHr
93) Which batsman started his international cricketing career at the age of 16?
A. Suresh Raina  B. Sachin Tendulkar C. Piyush Chawla . Rahul Dravid

HIUTCAT HelGTollel aATEdT 16T ST ATTeAT RIS fehehe HRIHEIAT Gl shell
a) WAL b) HiEHT AgeThT c) g =rerer d)rrgﬂafé?:
94) Cooking gas mainly consists of:

A.Methane and Ethane B. Ethylene and carbon monoxide
C. Butane and Isobutane  D.Acetylene and hydrogen

FIGUTRIAT ITHAEY JTHEITe Wlollel ST HATAL Blal:
a) fAde 3nfor 3= b) 3TN 30T It AAI3TFaTSS
c) sgeoT IO ImgEAsged  d) TAfeelle 3oy graglsted

95) is known as the City of Lakes in India?

a) Indore b) Udaipur c) Jaipur d) Surat
HR AT delTard e Fg U 3BT SiTd?
a) 3G b)3eAW ¢) SR ) IRl
96) ___is considered as father of Indian Nuclear Program
a) CV Raman b) Homi J Bhabha ¢) Abdul Kalam d) Vikram Sarabhai

ARAT AUTHERIGATS STeidh ATeAT Aol ST
a)dregr IHT b) gt o e C) 3fsqel FHelH d) e RS
97)___is the current foreign minister of India
a) Rajnath Singh b) Piyush Goyal c) S Jaishankar d) Ajit Doval

& IRAY Regas qwrsg 7 3md
a)erATy &g b) W airrer C) TH AU d) AT 3are
98) How many medals did India win at the 2018 Asian Games?
a) 70 b) 50 c) 60 d) 55
20183NAATS WAL 7R fohdl Ugah foldhel?

a)bo  b)se ¢)¢&o d)ss

99)  won India’s first Olympic Bronze medal in Boxing.
a) Vijender Singh  b) Akhil Kumar c¢) Dingko Singh d) Mary Kom
SMFGITHEY IRAT ufge 3fTTafFus FHieg e Sipe.

a)fgeig fer  b3if@aFAR ) fewaent far dFRY i
100) World’s largest portis located in
a) London b) Mumbai c) Shangha d) New York
STl FaTd AS e AN IR
a)ciseT b) #H=$ ) erET d)=ish

o




